First, | call
HAL_TIM_OC_Stop_IT(&htim2
__HAL_TIM_SetCompare

__HAL_TIM_SetCounter

0, TIM_CHANNEL_1);

Detug “
406 1
Files & . 0 207 UpdateDATimerTick();
= @ Agiva - Debug v 408 if {isCounterStartNeeded) |
2 & Application 409 isCounterStartlesded = false:
410 ’ HAL TIM SetCoun
411 tryEnableRDoutput () ;
CipActionDispatcher.c 412 1
— [ CipActionDispatcherh 413 /4 e
— & CipConstants.h 414 -}
CipErratDispatcher.c g
— B CipEarDispatcher h 416 [7] void UpdateDETimerTick(void) [
[e1 CipEventDispatcher.c 413 /4 Seb pew autc reload valu
| — R CipEveniDispatcher h ° i SetDAReloadValue ((uintl€_t)StepperParaneter. aktuell Delay)d
[l Trace.c e '
— Bl Traceh 421 ] void tryEnableADOutput({) {
M cobsc 222 if (lisTimerEnabled) |
423 enableADOutput () ;
424 }
425 77 Ne
226 L}
adec 4217
F— K adch 428 [] woid enableADOutput{) [
common.c 429 isTimerEnabled = true;
— B common.h 430 __HAL_TIM SetCounter(shtim20, 0);
Bl comp.e v ||t HAL_TIM OC_Start IT(chtin20, TIM CHANNEL I)i|
s 237 L
[ Agiva <
Watch 1
Expression Walue Location Twpe
i = ER 196637 0240015010 uint32_tvolatile
0 0x40015014 uint32_tvolatile
e |
0 0:4001501C uint32_twvolatile
0 040015020 uint32_twvolatile
3 0240015024 uint32_twvolatile
149 0240015028 uint32_twvolatile
10000 0x4001502C uint32_twvolatile
0 0240015030 uint32_twvolatile
- CCR1 10000 0240015034 uint32_twvolatile
CCR2 o 0x40015038 uint32_tvolatile
- CCR3 0 0xz4001503C uinti2_tvolatile
CCR4 0 0x40015040 uint32_tvolatile
BOTR 33562624 040015044 uint32_tvolatile
v CCRE 0 040015048 uint32_tvolatile
CCRE 1] 0x4001504C uint32_tvolatile
- CCMR3I 1] 0x40015050 uint32_tvolatile
- DTR2 1] 0x=40015054 uint32_tvolatile
ECR 1] 0x40015058 uint32_tvolatile
Debug ~
Files & e :gz if (l::lCDuntErStﬂrENEEdEd)i{ 3
isCounterStartNeeded = false;
E @ Aqiva - Debug v 410 Vs HAL TTIM SetCounter(shtim20, 0); //C. counter
=2 W Application 211 tryEnableADOutput ()
= Ecip 412 }
i cip_gen 413 7/ No
[el CipActionDispatcher.c aildl e |
— B CipActionDispatcherh 415
| — B CipCanstants h 416 [ void UpdateDATimerTick (void) |
[l CipErrorDispatcher.c 417 // Set new anto reload valus
}— B CipErrorDispatcherh ® a8
CipEventDispatcher.c :;i }
[l CipEventDispatcherh 1421 [ void tryEnableADoutput ()
- 422 if (lisTimerEnabled) [
423 enableADOutput () 7
124 1
425 4/ Wo
226 L}
427
g 428 [ void enableRDOutput() |
420 isTimerEnabled = true:
— 430 __HAL_TIM SetCounter (shtim20, 0);
& 131
— Bl cormmanh 432 -}
[ comp.c v 433
] 232 D1 wriA A4 eaklsdDOmeeer £
[Aciva <
Watch 1
Expression “Walue Location Type
- SR 196637 0x40015010 uint3Z_twvolatile
0x40015014 uint32_t volatile
0x4001501C uint3Z_twvolatile
0x40015020 uint32_twolatile
0x40015024 uintdZ_twvalatile
0240015028 uint3Z_twvolatile
25000 O=x4001502C uint32_t volatile
0=40015030 uintdZ_twvalatile
25000 0240015034 uint3Z_twvolatile
1] 0x40015038 uint32_t volatile
o 0x4001503C uintdZ_twvalatile
o 0x40015040 uint3Z_t volatile
33062624 0=40015044 uint32_t volatile
o O0x40015048 uintdZ_twvalatile
o 0x4001504C uint3Z_t volatile
1] 0x40015050 uint32_t volatile
o 0x40015054 uintdZ_twvalatile
1] 0x40015058 uint32 tvolatile




Timer value is correct, 25000 which is 25ms, then the | call HAL_TIM_OC_Start_IT

Debug =
Files o . A 4;: if (isCounterStartNeeded) [
El @ Agiva - Debug < 410
-2 & Application 411
412 1
413
CipActionDispatcher.c 414 L}

— [ CipActionDispatcher.h 415

— I CipCanstants.h “ET void UpdateDATimerTick (void) [

[l CipErorDispatcher.c !

CipErrorDispatcherh & 412
CipEventDispatcher.c :]2': !
_Cr:'pEvemD‘SpatCher'h 421 [F] void tryEnableiDOutpuc () |
:D race.c 422 if ('isTimerEnabled) |
— B Traceh 423 enableADCutput () ;

cobs-c 424
EVWARM 425
lio 128
serial_com 427

v 433

comp.c
424 ] wnid AdaahlaLnonmrrnr iy

Laiva <

L= & User 428 [0 void enableADOutput() {
adc.c 429 isTimerEnabled = true;
F— W adch 430 __BAL TIM SetCounter({shtim20, 0);
CoOmMmon.c & 431 HAL _TIM OC_Start_IT(chtim20, TIM CHANNEL 1);
— [l comman.h 432 -}

SetDAReloadValue ((uintlé_t) StepperParameter.aktuell Delay) ]

Watch 1

Expression “alug Location Type

P BR 196639 040015010 uint32_twolatile
0 0x40015014 uint32_twolatile
w32 tvalaile
0 0x4001501C uint32_twolatile
1 0x40015020 uint32_twolatile
7154 0=40015024 uint32_tvolatile
149 0x40015028 uint32_twvolatile
25000 0x4001502C uint32_twvolatile
0 0=40015030 uint32_tvolatile
25000 0x40015034 uint32_twvolatile
0 040015038 uint32_twvolatile
0 0x4001503C uint32_twolatile
0 040015040 uint32_twvolatile
33595392 0x40015044 uint32_twolatile
0 0x40015048 uint32_twolatile
0 0x4001504C uint32_twvolatile
0 040015050 uint32_twolatile
0 0x40015054 uint32_twolatile
1} 0x40015058 uint32_tvolatile
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The second is correct (25ms)
Edee CH1 £2.04. ¥

10ms/div

Zoom1 : 187.5 k 1.50ms/div

T1 3.80ms
T2 28.80ms
AT 25.00ms .
1747 40.0000 Hz . AN -0.03 ¥




